
Math 2415, Quiz #9, Summer 2014

lnstructions: Show all work. Justify answers as
something, mere computation is not enough. y
conclusion clearly. Incomplete work or justi f ica
specif ical ly asked to round.

A mass of 5 kg stretches a spring 10
10 sin (i)rrr arO moves in a medium
mass is 4 cm/sec. Formulate the differe
if the spring starts from equil ibrium.

. lf you are asked to prove
must explain reasoning. Be sure to state your
will not receive l l  credit.  Use exact answers unless

. The mass acted on by an external force of
imparts a viscous of 2N when the speed of the
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I  equation and i I  condit ions to model the system
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2. Describe the condit ions under which a mass system
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What is the difference between the
system?
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4. Determine if the vectors d = 
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Find the inner product of the functions /
(f ls) - [ i f.gat.
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